Morse Code Characters

« A dash is equal to three dots *The space between elements of the same letter is equal to one dot.
 The space between two letters is equal to three dots *The space between two words is equal to seven dots
Standard letters Accented letters Numbers
A = == N = AOI’A - ———— 1 N O S fHf =mummmw
E s essw () === s w— A - ——— 7 mom e — /] -
C omm o= P - oo e - E - ———— 3 mm o .- H v e e e -
() = aw () === s== = - N —_————— d mmm = e QO mmm s s e -
F = KN = o-__. 5 mesmamn () === s - — —
F mm e S T U -~ ——
G ——- T o Abbreviated Numbers
j{ mmmm J == e 1 = - fH w——-----
| -w \/ === - 2 - . . /] wsmmmm
J = s e — VW = s e T3 mww - 8 wemwew
K . X .. - d mmm = e 9 - -
L - - Y w——w e e 5 - O —
N - - / wmm mm—mw
Punctuation Procedural characters
Comma, =memesmmem Fyllstop(period) . = =memme = Start of work CT === ous = =
Questonmark ? seomeses Semicolon : = e e=e - -
' End of message AR === = == =
Colon: =m ememses Slash / == = = =me d of N/ e ——
Dash - == s s = = - Apostrophe ' m s saam samm s = .En ‘ of work VA
Invertedcomma " " == e s mse Underlineg = = wem w— Invitation to Tx S
. Invitation for particular s>2== . _ o
Left bracket ( M W N .. R|ght bracket ) SN W N N station to transmit KN
Equalssign = === == s Addition sign + = == = = Wait e=meas
Multiplication x === = == Atsign @ = == == e == Understood === =m=
Error "EEEEEEE.
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